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4 Fi1 6 4E 4 H 152 31,000 100% 26 10,800] 100%
4 F16 4 5 H 207 41,000{ 100% 33 14,200] 100%
4 F16 4 6 H 232 59,000 100% 32 13,500] 100%
2 F e FE 7 H 273 68,000 100% 30 15,400| 100%
4 Fi1 6 4 8 H 307 67,000 100% 29 17,000| 100%
4 F 6 9 H 221 58,000 100% 29 13,300| 100%
4 F1 6 410 H 174 40,000{ 100% 23 10,100| 100%
2 F 6 411 H 185 40,000{ 100% 24 9,200| 100%
4 F 6 412 H 195 44,000{ 100% 20 9,200( 100%
S MmT7TH 1A 213 49,000 100% 24 11,200| 100%
ST HE2H 223 46,000 100% 24 11,000| 100%
S 7% 3 A 175 42,000| 100% 24 11,200] 100%

H(12H) 585,000 146,100

X R SRR K 1.04 1.00
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GRS e | sk | SO0 e | sk
A F 541 H 279 73,874] 99% 24 11,216 99%
42 Fn 5 4 2 H 289 71,173] 99% 24 10,976 99%
4 Fn 5 4 3 H 243 67,674 99% 24 11,227 99%
2 Fn 54 4 H 221 56,864 99% 26 10,800 99%
4 Fn 545 H 274 66,119 99% 33 14,178 99%
4 Fn 5 4E 6 H 298 83,626 99% 32 13,521 99%
A f 54T H 337 92,382 99% 30 15,434 99%
4 Fn 5 4 8 H 370 91,465 99% 29 17,032 99%
4 Fn 549 H 287 82,920 99% 29 13,338 99%
4 Fn 5 4E 10 H 242 65,497 99% 23 10,106 99%
2 F 5411 H 252 65,485 99% 24 9,193 99%
4 F 5 4E 12 H 262 69,568 99% 20 9,189 99%

(121 H) 886,647 146,210

41215 A 4y EF 856,107 146,883

TRFAR I 5/ AL 1.04 1.00

S 193,000 45,700

Z DAt 392,000 100,400
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4 F16 4E 4 H 132 46,800] 100% 526 184,700] 100%
4 F16 4 5 H 168 51,900| 100% 450 192,000 100%
4 Fi16 4 6 H 192 57,400| 100% 459 231,800 100%
SR 6 T H 212 60,800| 100% 636 271,600( 100%
4 6 48 A 153 48,900| 100% 700 263,300 100%
69 H 130 45,000] 100% 696 228,200 100%
43 16 4F 10 H 167 55,200| 100% 586 201,700 100%
46 4E 11 A 176 56,300| 100% 455 215,000 100%
4 6 4E 12 A 149 51,300| 100% 568 243,400( 100%
S MTHELH 156 51,800| 100% 416 265,300 100%
A F T A2 A 152 43,700 100% 728 231,400( 100%
M7 3 H 112 43,400 100% 659 211,300 100%

(121 AH) 612,500 2,739,700
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MILLSEL | S0 S ma | SO\ wmE N R| Hk
A F 541 H 160 52,823 99% 416 265,321 99%
4 Fn 5 4 2 H 156 44,612] 99% 728 231,386 99%
4 Fn 5 4 3 H 115 44,321 99% 659 211,308 99%
4 Fn 54 4 H 135 47,726] 99% 526 184,658| 99%
4 Fn 545 H 172 52,927 99% 450 191,966 99%
4 Fn 5 4 6 H 196 58,530| 99% 459 231,816 99%
A f 54T H 217 62,017| 99% 636 271,588| 99%
4 Fn 5 4 8 H 157 49,941 99% 700 263,268 99%
4 Fn 549 H 133 45,876] 99% 696 228,157 99%
4 Fn 5 4E 10 H 171 56,353 99% 586 201,720 99%
A F54E 11 H 180 57,426 99% 455 214,989 99%
4 F 5 4E 12 H 153 52,371 99% 568 243,396 99%

(121 H) 624,923 631 2,739,573

41215 A 4y EF 640,740 2,746,638

THHEAREL 5/45E 0.98 1.00

S 154,700 763,100

ZF DA, 457,800 1,976,600
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A fn6 4 4 A 47 4,300| 100% 15 7,700] 100%
4 fn6 45 A 48 3,500] 100% 16 8,000| 100%
4 fn6 46 H 48 3,400 100% 20 8,200 100%
A e ETH 48 2,900| 100% 31 10,200| 100%
4 6 4 8 H 47 2,300( 100% 25 9,900 100%
69 H 47 3,900| 100% 22 8,700| 100%
43 F1 6 4F 10 H 48 5,000 100% 15 7,900 100%
4 6 4E 11 A 48 5,900 100% 18 8,700| 100%
4 6 4E 12 A 48 3,800{ 100% 24 10,100| 100%
SRTHE1H 48 3,100 100% 30 10,300| 100%
a7 2 H 48 3,300{ 100% 28 8,800 100%
RT3 H 46 4,200] 100% 17 9,200 100%

F(12% H) 45,600 107,700

PRIGEES L A 1.18 0.75 0.94
,35 =23 \El \El

RGP | SO e | sk | SOTEK e | sk
A 541 H 55 3,557| 99% 32 10,973 99%
4 5 4E 2 H 55 3,766] 99% 30 9,339 99%
4 fn5 4 3 H 52 4,772 99% 19 9,804| 99%
4544 H 54 4,899 99% 16 8,224 99%
A fn 545 H 55 3,927| 99% 18 8,478| 99%
4 546 H 55 3,875| 99% 22 8,723 99%
A M5 4ETH 55 3,244 99% 33 10,803| 99%
4 fn 5 4 8 H 54 2,613] 99% 27 10,519 99%
A fn 549 H 54 4,414 99% 24 9,294 99%
4 Fn 5 4E 10 H 55 5,662] 99% 17 8,365| 99%
A 5411 H 55 6,673 99% 20 9,213 99%
A f 54 12 H 55 4,265| 99% 26 10,751 99%

H (121 H) 51,667 114,486

AEPE12145 A 43 EF 43,867 122,362

FHFEARE 5/ AFSE 1.18 0.94

EES 9,100 28,800

ZF DA, 36,500 78,900
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4 Fn 6 4E 4 A 21 4,500 100% 28 12,100 100%
4 F6 4E 5 A 17 4,800 100% 28 12,900 100%
4 6 4E 6 H 29 5,700| 100% 35 14,000 100%
A e ETH 49 7,800] 100% 49 18,200 100%
4 6 4 8 H 42 5,700| 100% 52 20,500| 100%
2 Fl6 49 H 22 4,700| 100% 47 17,900{ 100%
43 F1 6 4F 10 H 16 4,700| 100% 28 14,100| 100%
43 16 4F 11 A 31 5,100| 100% 31 14,200| 100%
43 F1 6 4F 12 A 39 6,800| 100% 37 16,100| 100%
SRTHE1H 55 7,300] 100% 52 22,500| 100%
a7 2 H 43 5,600 100% 44 19,500 100%
RT3 H 19 4,500] 100% 34 15,900| 100%

F(12% H) 67,200 197,900

PRIGEES L A 0.98 0.78
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MBSO | s | SO0EN wmanm| ns
A Fn 5 4E 1 H 57 7,449] 99% 67 28,870 99%
A fn 5 4R 2 A 44 5,706] 99% 57 24,940 99%
A Fn 5 4E 3 A 20 4,586 99% 44 20,387 99%
A fn 5 4R 4 A 22 4,577 99% 36 15,507 99%
A Fn 5 4E 5 A 18 4,903| 99% 36 16,559 99%
A Fn 5 4E 6 H 30 5,855| 99% 45 17,977 99%
A Fn 54T A 43 7,946 99% 63 23,318 99%
A Fn 5 4E 8 A 43 5,848 99% 67 26,226 99%
A fn 549 A 23 4,774 99% 61 22,901 99%
A Fn 5 4E 10 H 17 4,794 99% 37 18,096 99%
A Fn 5 4R 11 A 32 5,233] 99% 41 18,213| 99%
A Fn 5 AR 12 A 40 6,976] 99% 48 20,663| 99%

H (121 H) 68,647 253,657

AFEPE12(45 H 43 FE 70,209 324,324

FHFEARE 5/ AFSE 0.98 0.78

EES 18,200 56,600

Z DA, 49,000 141,300




